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(Miller-Index)



h, k, | (hKi)

u, v, w [uvw]

(hki) [uvw]



Intercept at oo

/

Miller indices thi!)

“Intercept at b

' |
Intercept at < a

fa)
A
) %
[ / [i]
o V fi] V V
(010} (020)

(111 (111}

ibh)



XY, Z 4, 3, 2

174, 1/3, 1/2

3, 4, 6
(346) 3
A B C
1, 1, 1 3, 3 3 -1, -1, -1
1, 1, 1 1/3, 1/3, 1/3 -1, -1, -1
(111) (111) (iii)

(111)

(111)






J / 11
| I 9
23




A 2,1,1 [211]

B B 4,2, 2 [211]

H'Hl\ -

Sy

B4 ~

[111]

[111]

[111]
[111]

(1

[100] (100) , [110] (110)

(100), (010), (001)



(equivalent) , <uQw> <>

(family of directions) : {hki} {}

(family of planes)

{100}  (100), (01), (001),

(100), (010), (001) 6

{111}={(111), {111}, {111}, {111}}

<110>={[110], [101], [01], [11]O, [101], [011]}

{100} (cubic plane) {110}

12 (dodecahedral plane), {111} 8 (octahedral plane)



. e N . | =

Miller-Bravais indices (hkil): 5, 7. =, o5~ (0110)
Note: h+k=—§

6. -

6
120° a;, a2, as
c 4
(hkil) Miller-Bravais

hl k, I a'll a21 a3 I C



h+k=-i . (hkil)  (hkl)
(base plane) {0001} |, (prismatic
plane) {1010} , {pyramidal plane) {1011}
4 {uvtw]
u+v=-t [uvw]
[uvtw] - [UVW]
U=u-t
V=v-t
W=w

[1011]=[211], [2110]=[320], [1120]=[330]=[110]



